[IZERKE IN S5 )—JH&ER])
B=3R  BIAI=1R AT=0R tEIE  [1—2[1—3[2—3]
A 7TuayJ 1 | 2 | 3 | Pest| W
06 16
373 0 P 0 P
06 06 0 3
BX Orn | LR EE R R
1 FEmET | BT I Paf 0 | Paf o
% 60 53
:3\'»;1_\‘/"6“@" 3P 3P
- 60 36 |19co | 2
I MR EFEE | B)ilfEF | s P 0 P
TEELT MWME -5 [Pt 6 Pak 3
[ ‘ 61 35
Stop ! ﬂ‘éﬁ{)ﬁ&g& 3 plo P
60 | 63 9en | 1
ZHHET | WhmE |5 |2 v
BAEE | EARMT [Pt 6 |pat 3
BEo3E BT 1E AT=0E xt B JIE [1—2[1-3[2-3]
B 7uay/ 4 5 6 | Presr | JEA:
o k 61 32
HIJ El ﬁk@;-%_lt 3 Pl 3 p
60 52 12 1
AR BT BX KT+ s p| 3 p
2 Wik AT | A RKT Pt 6 |Pik 6
% 16 44
WHALEE [0 - L
- 06 24 1 3
| PERE | EEVTFH [0 p 0
®’EA Yaf— ® B PRt 0 Pat 1
[~ 23|44
mEILLITE [ e
25 42 4 9
@ B EF SR FFF o pls p
HILET | /LEX pet 0 |Pat 4




=38 BII=1A AIT=04 awE [T
C 7uy7 7 8 9 | Pest | JEA
26 60
HoR\ Vb : -
! 92 62 | 9019 | 2
RENERET | 8K B ; e
3 THE 207 | i BHEF Pzt 3 =T
62 60
% E:éﬁll/?‘yl\ 3 p 3 ;
- 8 25 51 900 1
NE%TE | G R | o F e
I s SH7 | /) FEE PEt 3 = o
|‘ 06 06
F—h=h [T
9 26 06 0 3
BE 'Y f4 AT 0 Pl o
ARER £ | AR EETF |Pit 0 P&t 0
B=3m Bla=18 A=08 s [
D 7vuyy 10 | 11 | 12 | pest | s
%wﬂf_q“ 1 > 3 = p
10] FTWATY! et |
MEEEF | BT ; -
4 FiE BT =i BT P2t 4 R
33 33
= Y s I Ex
11 T — ,
=1 HT FET | mEET | o r e 3
I &7 BT o R Pt 1 —
|‘ . 06 33
7‘:/3-713“‘%\ 0 p 1
12 06 = \ 5
yallp=s:: sy Fif 3= P
= ERTF im Bk |PEt o P 4




B=3R FIaT=21R AF=208 s [T o1 o2 3]
E vy’ 13 | 14 | 15 | pest | hEsr
34 35
mﬁ%vﬁ.b\ 0 P 0 p
13 52 | 33 1 3
/NE BBF Kd 73 o p|l1 P
5 R OET | Bl ETN
& [¥auE [0 T
O |1a| BB 5 0 | 12 | 1
| NE®RTF | RKIT&EF | 3 S
Rt ILHAE | RIS B |PEf 6 D3 6
k ] 53 14
:E‘\/jﬁ?/ 3 0 P
15 33 | 05 4 9
M AT | mExXF | 0
FEE #iT | R RTF |PEF 4 |PRF O
EIE  [1-2[3-4|1-3l2—4]1-4|2-3]
F 7uay/ 16 17 18 19 | Pwst | &z
16 06 15
xv4}VMK 0 P 0 P |0 P
16 6 | 06 | 6| 0 | 4
/N EEF JFE RE PR PSR R
(o) =W EF | LB RKTF PEk 0 |PEF 0 |PEF 0
61 55 61
%m%% 5P 1 p|l 3 p
&= |17 60 6 | 60 | 13| 2
FEEL | MERT | o P R
AN s RS PRk 6 P} 1 Pt 6
= 60 55 60
\:—)_\:0)% 3 p 1 P 3 p
I 18 60 61 63 16 1
ESVTL | BLUEE | 3 e
NG EE \3CFE BB+ IPE 6 Pz} 4 P=F 6
~ 51 16 06
E+LiR ; I
19 60 | 06 | 36 6 3
gk BETF | HP EHET | 3 o Ry
ARBET | A ERT [Pit e [Pt o [ir o




( 16Ik—F A2k )

(MORAUMEATL—Y ) 1-1DBERFLRITEIHEIRECLAITA

— 1-2%a—+ —
Stop ! FRIRREG %ODﬂ**—zi XA T
2-0 1-1
1-1 (10-5) (10-7) (10-7)
(7-10) (7-10)
A7 F AKTEAL 1k o s $3PLE, BHIUY,
1-1 (13-11)
(9-11)
(10-8)
WL VT b IFIDT
( 26Ih—F A2 )
— 3+4FI—F —
Fa2TY vV ava—X
1-1 1-1
1-1 (9-11) (10-6) (10-4)
(8-10) (10-12)
BEWLLITH i ro LT T
1-1 (10-12)
(2-10)
(10-5)
SoEND BB
( BHL/4fib—F Ak )
— 5-6FI—F —
F=y—h<h
E’j:m 2-0
(5-10)
(7-10)
0-2
1-1 (10-12) (10-12; 1-1 FHATRT
(9-11) (10-8)
373 (10-3) (4-10)
2-0
(3-10) , .
(7-10) S~ & A
WHALXH vo
(10-1)
(10-7)

A=A VMK




	2021-9_minami1.pdf
	2021-9_minami2.pdf

